siajsuel] eiq

S:UUIAADUINYNILUWUW

Name
Model
Page

Name
Model
Page

Name
Model
Page

Name
Model
Page

Name
Model
Page

InAouUSYNUWLW
TRANSFERS SYSTEM

Material Guides Material Guide Roller Sets Stock Lifter  Material Feeder  Sheet Lifter
25STG / 25STGN / 25STGE 25SGDRT(A,B) / 25SEGDR 25SSRL 25Z0ORW 25SLC /25SLCE
153 154 155 155 156
.Il I l“ | ﬂlll ﬂlﬂl |\ II
I lll i
Guide Lifters Lifter Pins Block Guide Lifters
25GLP / 25GLH / 25GLR / 25AGL / 25GLSZ 25LPAH / 25LHAH 25GLB / 25GLBK
157 - 159 159 160
‘ Il II. I l Ili
I [ f}
Iﬂ ” : & '
Guide Lifters w/ Air Hole Block Lifter Lifter Pins Resin Lifter Pins Lifter Pins with Relief Hole
25GLJS / 25LJS 25BLR 25LPH 25JLP 25LHH / 25LHHV
161 161 162 162 163
a ‘ ‘ = - S -
Block Lifters Knockout Pins Push Pins Material Guide Units
25BLL / 25BLH / 25BLLF 25KOP 25JPWH 25ZGUA / 25ZGUB / 25SUK-A / 25SUK-B
164 165 165 166 - 168

Stock Guide Lifter Units H-Type Lifter Unit Mini Lifter Unit

25SBM / 25SBA 25LTHS /7 25CLTH 25SHGC / 25SHGT / 25SHGF / 25SHLS 25MLGT
169 170 171 -176 177

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
1 51 sUN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Name
Model
Page

Name
Model
Page

Name
Model
Page

Name
Model
Page

Name
Model
Page

Die Transfers System

[ o)

Embed Lifter Units

25S8FL / 25SFLK / 25SFLG / 25SKIL / 25LGIL / 25PGLI

Y@

Lifter Components

258KIL-B / 25SFSG / 25SFRG /25SFLPA

185 - 186

g

Pusher Units

178 - 183

I LL

Lifter Guide Post Sets
25LGPS / 25LGPPS
184

EOPd T |

Bell Crank Lifter Parts

25SBCR / 25SBCH / 25SBCBC / 25SBCL / 25SBCS / 25SBCJP / 25SBCBH / 25SBCP / 25SBCCR

187 - 192

Pusher Unit Components

25SODP / 25SOSP / 25APSG-B / 25APSG 25ADR / 25S0-PSH / 25CNP-APSG

193 - 195

PT e

Hook for Transport
25DKLH / 25DVJ
199

Roller Carriers

25BCR
203

196

Cast-In Bolt
Lifting Bars Lifting Bolts Die Hooks
25HLFB 25CSN 25HBT / 25HBTL
199 200 200

©

Shredder Units
25SDA / 25SDB
197 - 198

e
|
=

d
g
= =
A

Plate Type Die Hooks
25HPT / 25HPTL
201 - 202

Roller Carriers Fit Type Ball Roller Carriers
25BCRP 25CHI
203 204

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

Q®UN RISE 152

technologies

Die Transfers



siajsuel] eiq

S:UUIAADUINYNLIWUW

I Material Guides - Tnausuingau

OF OIL FREE™
L (de) R (171)
Direction Direction
L
(H+10)/2 L1 L1
@ 175 © ©
| ©
N //
,,,,,,,,,,,, 1 L
Model: 25STG °
Jnau 2020 o
Round Holes =
ol - T -
{ F—t —t —t —rt
b= b b b
| [ T [ [
L1204
L
2-07.8 through hole
L1 L1
(H+10)/2 o
o® o©°
| 3|
N -
e -
Model: 25STGN =
anan fzlanadiu
Round Holes w/ Dowel Holes
[y —— - - -
o | by i
I [ [ ol
| 2014
L
(H+10)/2 L1 L1
e @
- ! - ‘(/
Model: 25STGE =
FLLDL) 2035 o
Slot Holes / -
S —— R S ——
\ LT"TJ Lrjg Lrjg Lr,TJ
| Lo -+ Lo Lo

. 1. danuuujia
2. W@anauing (L) %3a 121 (R)

3. 1@aNAINETT KATAIINGS

REDBIER] \odel - Direction - L - H (@) s45¢ (558HRC-)
DALY >55T7G-L-100-60 N\ Induction Harden

Model Direction L H

253TG 100 20 30 40 50 60
25STGN ;
25STGE 150 20 30 40 50 60

1. Choose mounting hole type
2. Choose direction (L) or (R)

3. Choose Length and
L1
70 25
70 35

Height

L2

30

30

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

153 QUN RISE

technologies



Die Transfers System

I Material Guide Roller Sets - galaslsaiaas

i OF OIL FREE™
Single Double
A
A acs @) ses
- < Z / - 2
e | {glo)e
R R
P P

Jugnilu B
Bearing Type " D
‘l T e
® @ scma1s (g5HRC- ) dr = %rﬁr o
@@ ss400 ol =L Flz d II @
o o
Bolt Included <3 s % 4|2 @
o [[] S
G
Details A B =
o
a
A
A 4-c5 S 4-Cs
I L T L
AW Y S R N /- N Y
CRn VAN e\ AR
o " 7 R
P
P
H
Junanv3 D P . a
1
OIL FREE™ Type B o
Lol
® @ scm415 (58HRC- ) J = =
@ Sprue Retainer @ =S T4
® Bolt e d/@@ = d1
@ Bushing ® 4 L - .
(® C snap Ring ‘ ‘
® Spacer
@ Spring Washer - . o
[ISTATINCEle] ['STRIT) RWIZTAD
@ $S400 Single Model Double Model Wheel Only
Needle Bearing 25SGDRTA 25SGDRTAW 25SGDRTAT
Bearing :
RYTTY Vodel D -w Ball Bearing 25SGDRTB 25SGDRTBW 25SGDRTBT
EXAMPLE B ey OIL FREE™ Bushing 25SEGDR 25SEGDRW 25SEGDRT
A G
B |c} —— 'R F—
Single | Double Single | Double Double
30 38 48 40 5 10 95 395 30 10 73 373 55 20 15 300 14
25SGDRTA 565 38 54 75 8 25 145 445 | 55 20 115 45 65 36 65 300 | 32
25SGDRTAW :
55 70 86 75 8 25 145 445 55 20 115 45 65 35 55| 300 | 32
30 38 48 40 5 9 95 395 30 10 73 373 55 20 15 300 @ 12
25SGDRTE 565 38 54 75 8 20 145 445 | 55 20 115 45 65 36 65 300 | 32
25SGDRTBW :
55 70 86 75 8 20 145 445 55 20 115 45 65 35 55| 300 | 32
30 38 48 40 5 16 95 395 30 10 73 373 55 20 19 | 300 @ 24
25SEGDR
e GDRW 55 38 54 75 8 | 25 145 445 855 20 115 45 65 35 305 300 | 36
55 70 86 75 8 | 25 145 445 55 20 115 45 65 35 305 300 | 36
H
D
N D1 30 38|67 55 8 25 7
-4 [T 25SGDRTAT 65 38 92 95 22 5 17 -
—e : 55 70 124 95 22 5 17
- dne - T s 30 38 67 55 7 25 7
- | |
O5SGDRTBT 56 38 92 95 17 5 17 | -
I 55 70 (124 95 17 5 17
“ 30 38 B2 18 15 7 | M0
M
$ugnilu ol funnnv O5SEGDRT | 55 38 61 - 28 26 17 M6
Bearing Type OIL FREE™ Type 5 | 70 ['e8 2 | & | i || WS

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 sUN RISE 1 54

Website: www.sunrisegr.com Email: sale@sunrisegr.com L
technologies



S:UUIA3DUIYNLUWUW
I Stock Lifter Unit - afandvinas

18 ™
Model: 25SSRL OF OIL FREE
PN
©e:ills |gx
‘ I I ‘ ol «
| | AN M~
% -
90 -
ﬁm /@)Roller
o
% il-free bushing
) ¥ ]
o ®@ SKS3 (55~58HRC) =
= SUJ2 (55~58HRC) © [ 1] @Roller shaft
) ® Bolt 12-50 (x2) w e Il
4 - k=]l |
o &) @88400 S \ / i i/@Hexagon socket
b 6] SS400 T Y f— set screw
—)
g io!lt :-1§(x4) g Arall e /A -4 | @ Main part
ol pring !u‘. H‘
[el=Ip]=l28 Model S
EXAMPLE [EISSISIEiEN) : : —

Min Load Max Load

10 60 75 12 90 165N 16.8kgf 439N 44.8kgt
25SSRL
20 80 95 22 120 108N 11kgf 469N 47 8kgf

I Material Feeder Unit - 4afnisn

q

OF OIL FREE™

Model: 25ZORW 65 ‘ 60 +2
4)Roller
W (( +
/ % 1 Leaf spring
3 8
20 20
99 —
5 ey «970
12.5
[N ! o
] ‘ | il e 40
b 1 /D_C\ o S
Q| 0| © (+ + |
NI 1 ‘ ! IR =
< L \ \
1 15 \
@@ SK5M 30
S45C G-type ring
® G-8Ring Hinge pin

@ Wheel (Steel or Resin)

Order Code
dolany 25Z0RWMS 1.4 5.88N/mm 0.60kgf/mm
Steel Wheel
(S45C 45HRC~) 25Z0RWHS 1.6 8.43N/mm 0.86kgf/mm
da13%u 256Z0RWMP 1.4 5.88N/mm 0.60kgf/mm
Resin Wheel
(POM) 25Z0RWHP 1.6 8.43N/mm 0.86kgf/mm

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
1 55 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Transfers System
I Sheet Lifters - @navnas

OF OIL FREE™
25SMB-F10-10-18
120 ‘
411 | 30 | 30 | 2
R5 LIL
S — (O] 8]0
_ + \} }\ [TolNTolNTe)
h L o Bt
Model: 25SLCE-| ®/ ®/E@ Eh|©
© @ s4sc STRIPPER BOLT SPRING WASHER10
2 R30
/
N o O 3
o~ <
Model: 25SLCE-W i
0] @ Copper Alloy
ﬁ 2 R30
|
\\..
~ Q & 3
Model: 25SLC-W N

®@ Copper Alloy

[e]z{p]=z0 Model # @@FCZSO
2R 25sLC-w20U 3 Coil Spring

‘ Coil Spring ‘ Stroke ‘ Min Lifting Load Max Lifting Load Min Spring Load Max Spring Load
DxL Color S ‘
20U 17x50  Light Blue 18.3N 1.9kgf 245N 2.5kgf 73N 7.5kgf 98N 10kgf
20R 17x50 Ivory 20 3kgf 39.2N 4kgf 17N 12kgf 157N 16kgf
25SLCE-| 20S 17x60 = Orange 54.9N 5.6kgf 735N 7.5kgf 220N 225kgf 294N 30kgf
25SLCE-W
25SLC-W 25U 17x50 Light Blue 16.9N 1.7kgf 24.5N 2.5kgf 67N 6.9kgf 98N 10kgf
25R 17x50 Ivory 25 27N 2.8kgf 39.2N 4kgf 108N 11kgf 157N 16kgf
258 17x50  Orange 51N 5.2kgf 735N 7.5kgf 202N 20.6kgf = 294N 30kgf

0=[6]\§ Model # -Option dwsuuian S45C windu )
SESLCE-120U-HTC @ Only for S45C material model Induction Harden = Sheet Bar HTC

Nickle Plating Sheet Bar HTM

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 156

technologies

Die Transfers



siajsuel] eiq

S:UUIAADUINYNLIWUW
I Guide Lifter - Tnaaninas

01 OF OIL FREE™
A+0
] =
8 2 f &
SKs3 I =
53~58HRC 3
quudsdruia gegn 45HRC € £0.05 L 201 3

Head part harden up to 45HRC

0)=1p]=lal Model D-L-A Model: 25GLP “uusnsgu idanawizd L/ A

EXAMPLE (BN T Standard Type, choose only L/ A
Model D g6 L A e w D1
4 o0s 10 15 20 22 25 28 30 33 35 36 40 45 B0 05/08/10 5 2 6
6 092 10 15 20 22 25 28 30 33 35 36 40 45 50 05/08/10/16 36 8
8 o0 10 156 20 22 25 28 30 33 35 36 40 45 50 55 60 10/16/20 . 5 10
o5GLP | 10 oo 20 22 25 28 30 33 35 36 40 45 50 55 60 16/20/25 6 13
13 006 20 22 25 28 30 33 35 36 40 45 50 55 60 20/25/36 7 16
16 00 30 33 35 36 40 45 50 55 60 70 20/25/40 8 19
20 007 33 35 36 40 45 50 55 60 70 36/50 2 10 | 23
Model D-L-A Model: 25GLH wuwdanen L/ A dufiaz 0.1us.
EXAMPLE [EcE Ry Increment Type, choose L / A increment by 0.1mm

0.Tmm increment

4 0,004 10.0 - 55.0 05-20 5 2 6
6 -0.012 10.0 - 75.0 05-30 36 8
8 0005 10.0 - 75.0 07-45 . 5 10
10 -0.014 10.0 - 90.0 07-45 6 13
25GLH
13 0,006 10.0 - 90.0 1.0 - 6.0 7 16
16 -0.017 10.0 - 100.0 10-60 8 19
20 0007 15.0 - 100.0 1.0 - 6.0 12 10 23
25 gl 15.0 - 100.0 1.0 - 6.0 13 28
+0.1
A+0
_ ) -
© =
SKS3 S 7 a
53-58HRC = H i
guudsdiuin gega 45HRC N |
Head part harden up to 45HRC E +0.05 L 0.1 3
0]:1p]=la0 Model D-L-A-E-W Model: 25GLK u“vudandL/A/E/W Huiaz 0.1a.
SN o5 K10-455-41-55-55 Increment Type, choose L/ A/ E /W increment by 0.1mm

0.1mm increment

4 0,004 15.0 - 45.0 05-20 5.0 -10.0 15-22 6
6 -0012 15.0 - 72.0 06-30 50 -10.0 265-46 8
8 0,005 15.0 - 72.0 07-45 5.0 - 10.0 35-6.0 10
seLK 10 -0.014 15.0 - 82.0 07-45 5.0 - 15.0 5.0 - 8.0 13
13 0,006 20.0 - 82.0 1.0 - 6.0 5.0 - 15.0 6.0-11.0 16
16 -0.017 20.0 - 82.0 1.0 - 6.0 10.0 - 20.0 6.0 -14.0 19
20 0,007 20.0 - 82.0 1.0 - 6.0 10.0 - 20.0 10.0 - 18.0 23
25 -0.020 20.0 - 82.0 1.0 - 6.0 10.0 - 20.0 13.0 - 22.0 28

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
1 57 sUN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Transfers System

I Detachable Guide Lifter - lndanmas wuuaanls

OIL FREE™
Aig‘1 Recess Imax @ D=10-13 L2 6F4
gm MxP
& e |
g & == ———r
S| 9| - - [ T o
e —— gt
E— MxP
L1 I T
7 005 L +01
D=6-~8
Model: 25GLR ®

[e]a1p]=2f Model D-L-A SKS3
IDONILIN o>5G R10-265-15 53~568HRC

Die Transfers

-0.004

6 0004 200-600 05-30 36 8 3  M3x05 55
15 9 6
8 0,005 20.0 - 60.0 0.7 -40 5 10 3 M4x0.7 7
25GLR -0014
10 26.0 - 70.0 0.7 -40 6 13 8 M4x0.7 7
p— 21 n 10
13 L0017 26.0 - 80.0 1.0-6.0 7 16 9 M5x0.8 8.5

I Heavy Load Guide Lifter - lndanimad g1%3ueiuniin

Model: 25AGL E 005
. ; S

+0.1

R1 Ao L 0.1
R1 R0.2-0.3
SKS3
53~58HRC
(Ol2{o]aIzy Model D -L-A-E guudedauia gega 45HRC
CVILER >5AGL16-355-35-155 Head part harden up to 45HRC

0.1mm increment

A
13 30.0 - 80.0 3.0 -10.0 7.0-18.0 8 6
-0.006
-0.017
16 30.0 - 80.0 3.0-120 10.0 - 20.0 10 €5
25AGL
20 30.0 - 90.0 3.0 - 16.0 10.0 - 23.0 13 €5
-0.017
-0.020
25 30.0 - 100.0 3.0-180 12.0 - 26.0 16 12

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 158

technologies



S:UUIAADUINYNLIWUW

I Guide Lifter with Spring Hole - lndaninasuuuiizau3s

OF OIL FREE™
I| Model: 256157 R
2 e -

SKs3 s ! g| <9

53-58HRC 5 R1 3

guudsduia gegn 45HRC I

Head part harden up to 45HRC s |g| ©
(O]z{p]S{2f Model D-L-A E :0.05 L 0.1 5
SR 25GLS720-50-5.0

6.3,

Dgs
w
D

Model D g6 L A E | W | d | d2| s | b
g 13 . 30 35 40 45 50 55 60 202536 7 7 65 8 10 16
= 16 7 30 35 40 45 50 55 60 20 25 40 8 105 1 10 19
% 256LSZ7 20 40 45 50 55 60 65 70 36 4050 12 10 135 14 12 23
g 25 0% 40 45 50 55 60 65 70 75 80 36 4.0 50 1 185 19 15 28

32 0009 40 45 50 55 60 65 70 75 80 50 6.0 7.0 17 13 255 26 18 35

-0.025

I Lifter Pin with Spring Hole - AWimasfuuuuiizadss
OF OIL FREE™

Model: 25LPAH 5 S _ R2
Clg g T © R<0 5} } a&
SKS3 o R1 | —
53-58HRC -————=
guudsduia gegn 45HRC
Head part harden up to 45HRC 5 L 0.1
[e]={p]=z@ Model D-L
EXAMPLE [EYRINEEINC
13 wose |30 35 40 45 50 55 60 6 8 10 16
16 07 30 35 40 45 5O 55 60 10 1 10 19
25LPAH 20 . 40 45 50 55 60 66 70 13 | 14 | 12 | 23
25 w0020 40 45 50 55 60 665 70 75 80 18 19 15 28
32 0% 40 45 50 55 60 65 70 75 8 25 26 18 35

I Lifter Pin with Spring & Pilot Hole - aWimasAunuuiizaise uaz lwdanwud

OF OIL FREE™

Model: 25LHAH 5.5 . ro
SKs3 als ar 55— <4 &
53-58HRC S RN
quudediui gega 45HRC
Head part harden up to 45HRC 5 L o1 A
[e]=1p]=l2@ Model D-L
RGWULE 05| HAH20-50
Model D g6 L dil d2 S D1
16 oo 30 40 45 5O 65 60 10 11 10 19
20 b007 40 45 50 55 60 65 70 13 14 12 23
25LHAH o
25 40 45 50 55 60 65 70 75 80 18 19 15 28
32 o0 40 45 50 55 60 65 70 75 80 25 26 18 35

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
1 59 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



I Block Guide Lifters - udamlnsaninas

IIHI '

Model 25GLB

Die Transfers System

V. H-L-A-E SKS3

ORDER [IEEl
2GRN >5GLB0808-205-0.7-15

53~58HRC

N OF OIL FREE™
W 10.05 A+0 MxP
= £ A f = P
C.>>’~? - - - L:i 'C“-C a
4-C -0.01 > Sl 14 4
H-0.02 @ 3 oo
E +0.05 L +0.1 T
®v=18 ‘
gk
~ ]
£ N
' [ee)
,,, A3
.\ >
H 2-MxP

05 05
06 o M3x05 9 10 4 7 65
18 15 05
08 g | 200-600
25GLB 24 05-36 | 50-150
- M4x07 12 14 5 8 8
10 20
30
B 08
- 13 260-800 25 M5x08 15 18 6 9 95
I Block Guide Lifters Fixed Type - udanlndaninas wuusasnngs
o OF OIL FREE™
¥
4 Model 25GLBK N 4-C _WHO-OS
A
s T
EE
> b o
0 001/ €0.3-0.5 S0 404
% V-0.02 (Entire periphery) <’ A+
= E +0.05 L +0.1
I
1
el 10]==0 Model V-L-A-E-T T>E SKs3 \
VAN o561 BK10-35-15-55-30.5 T=(+B)y2 53-58HRC

5mm increment 0.Tmm increment

E

25GLBK

I

30 -80 05-40

50-250 5.0 -50.0

2.0

25

05

0.8

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

®UN RISE 160

technologies

Die Transfers



S:UUIAADUINYNLIWUW

I Guide Lifters with Air Hole - lnaavmas wuuidasannia

| Model: 25GLJS L OF OIL FREE™
K +0
Og - I-F
Zs L e
: |
3 IN| I
“|_E 005 L +0.1 3

+0.05

[o]z{p]=>] Model D-L-N-A SKS3 quudedaui gega 45HRC
SN o5c 1S8-30-3-16 53~58HRC Head part harden up to 45HRC
N
Imm
9 increment
‘: 4 _5004 10 15 20 22 25 28 30 33 35 36 40 45 50 05/08/10 20 6 5 20 s 1.75
5 6 0012 10 15 20 22 25 28 30 33 35 36 40 45 50 05/08/10/16 36 8 25 |2
% 8  _0005 15 20 22 25 28 30 33 35 36 40 45 50 55 1.0/16/20 50 10 3
= 004 2<N<D-2 12 35 20
o) 10 © 20 22 25 28 30 33 35 36 40 45 50 55 16/20/25 60 13 4
"
13 0006 20 22 25 28 30 33 35 36 40 45 50 55 20/25/36 70 16 45|25 5
16 ~0017 30 33 35 36 40 45 50 55 60 70 20/25/40 80 19 12 6

I Lifter Pins with Air Hole - anWimasiu wuuiidasainis

Model: 25LJS Porpvany) g, OF OIL FREE™
—
S ~] =T \ =
,,,,,,,,,,,,,,,,,,,,,,, '”17 % / T
|| 3102 d]
| 3i6° L 0.1

DgG

(@]z{p]=Iz§ Model D - L SKS3
EXAMPLE [RYSINIE el 53-58HRC

4 ] 6 2.0 1.75
o 15 03
6 : 8 25 2
25LUS 25 28 30 34 40
8 i 10 3
oo 35 20 05
10 : 13 4

I Block Lifter - uAamdninas

-0.01 ™
) V.0.02, 4-C OF OIL FREE
Model: 25BLR ' ) Ve
-% R0.305 3S
o —

MxP h

0%

+0.1

A

L 0.1

+0.2
T+0

0
Model V. H-L-A D -o.
ORDER @ v-173xAz2 @ SKS3 (53-58HRC) o
2WIHEY o581 R0808-405-15

L A
0.1mm increment 0.1mm increment
06 06 05 M3 x 0.5 9 10 4 7 6.5 24CB3x10
08 08 '
25BLR 10 10 20.0 - 60.0 05-36 M4 x 0.7 12 14 5} 8 8.0 24CB4x12
0.8
13 13 M5 x 0.8 15 18 6 9 95  24CBbx15

1 61 %UN RISE Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Transfers System

I Lifter Pins - &nimashu

i OF OIL FREE™
|
; M o-4-6 DI Jr — [ ala
|
| R 3 7
v @ p-2-38D28 O — a
SKs3 3/
53-58HRC L 101 3
guudedrui gega 45HRC
Head part harden up to 45HRC
(OlZ{D]=Izy Model D -L \roqal. o P suusiasgiu laniewizen L o
EXAMPLE |Rels{H=[oMsle) Standard Type, choose only L o
@
Model D L D1 D2 R =
2 10 15 B °
3 10 15 20 22 25 28 30 33 35 36 40 4 o o
4 0 15 20 22 25 28 30 33 35 36 40 45 5O 6 8 ‘
6 10 1B 20 22 25 28 30 33 35 36 40 45 BO bB5 60 8 4.6
26LP 8 _0905 10 1B 20 22 25 28 30 33 35 36 40 45 bBO b5 60 10 s
10 20 22 25 28 30 33 36 36 40 45 B0 bB5 60 13 .
13 20 22 25 28 30 33 35 36 40 45 50 55 60 16 =
16 30 33 356 36 40 45 50 B5 60 70 19 2.0
20 30 33 36 36 40 45 5O 5B5 60 70 23
(olx{p]=zf Model D -L Model: 25LPH “uuidandn L dufiaz 0.1%.
GV 05 PH10-555 Increment Type, choose L increment by 0.1mm
L
0.1mm increment
2 0002 100 - 400 3
3 -0.008 10.0 - 50.0 4
0.3
4 0004 10.0 - 50.0 6 3
6 -0.012 10.0 - 60.0 8 46
- 10.0 - 80.0 10
25LPH oo 05
10 e 10.0 - 80.0 13
13 _0006 20.0 - 90.0 16
16 -0.017 20.0 - 100.0 19 .
20 _o007 25.0 - 100.0 23 :
25 0020 30.0 - 1000 28

I Resin (POM) Lifter Pins - aWmasiu wuuts@y (POM)
OF OIL FREE™

Model: 25JLP N

o - a

R

REBIa] Model D-L (@ Pom
2GRN O5) P10-10.5

L

0.1mm increment

10.0 - 30.0
10.0 - 30.0
10.0 - 40.0
-0.05 10.0 - 50.0
10.0 - 60.0
10.0 - 60.0

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 162

technologies

0.3
25JLP

w o~ W N
o
@ oo b~ W

05

o
I N
w O




siajsuel] eiq

S:UUIAADUINYILWUW
I Lifter Pins with Pilot Punch Relief Hole - avwma$iiu wuuiitaslndanwud

OF OIL FREE™

Model: 25LHH
Q
M p-4-6
R Effective length of A 7
1
SKS3 = [ |
53-58HRC ®o-3580210 § 7 %*ff,, Q
guudediuia gega 45HRC : I
Head part harden up to 45HRC A B/E"fe"”"e fength of A
lol=1n]=>f] Model D-L-A L z01 3

2GRS 05 HH10-20.5-1.7

L min. effective R
0.Tmm increment length of A
-0.002 .
3 0,008 20.0 - 30.0 0.8 - 1.4 (0.7mm increment) 4 = 2
4 20.0 - 50.0 1.0 - 2.3 (0.1mm increment) 6 €] 2
-0.004 ) 0.3
5 0012 20.0 - 50.0 1.4 - 3.0 (0.1mm increment) 6.4 -
8
6 20.0 - 50.0 1.4 - 35 (0.1mm increment) 8 4.6
8 20.0 - 50.0 1.4 - 5.3 (0.3mm increment) 10 4
25LHH
004 1.4 - 6.3 (0.3mm increment) 13 5
10 : 20.0 - 60.0
55/58/6.0/63/6.8
- 0.5
13 0006 20.0 - 60.0 1.8 - 9.3 (0.6mm increment) 16 6
-0.017
16 20.0 - 60.0 2.0 - 11.5 (0.6mm increment) 19 8
20 ol 200 - 600 2.0 - 155 (0.5mm increment) 23 10

I Lifter Pins with Pilot Punch Relief Hole - aWimadfiu wuuiitaslndannud

OF OIL FREE

Model: 25LHHV S -
+<(+ S Q

@o-46 & [~ T3
E RO0.3/| Effective

length
of A 7

RES E—
sKs3 ®po-8 § 2 - a
< I
53~58HRC M
o o Effecti
guudediuia gega 45HRC O @/ /eiffy}:f‘;e
Head part harden up to 45HRC —
L+o0.1 3

[e]>p]=>f Model D-L-A
IDOVIHEN o5 HH\/8-35-2.45

min. effective

0.01mm increment length of A
20 22 25 30 1.00 - 1.60 6 3 2 22
-0.004
-0.012
25LHHV | 6 25 30 33 35 1.00 - 3.00 8 46 3 34
8 oo 30 33 35 40 1.00 - 4.00 0 | - 4 44

1 63 %UN RISE Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



I Block Lifters - udananinas

Model: 25BLL-L

Die Transfers System

OF OIL FREE™
Model: 25BLLF-L

-0.01 - -0.01
V -0.05 5 v 003 V -0.05
E=2 4-C0.5 > Vol 4cos E=2[ 2 4-C0.5
o N 58
2 e e 39
T | ‘ T
!
o3
(] 3
Rs<0.3 Rs0.5 C1 cLowez) RS0.5 005 Rs03 Rs0.2 %
Sof i R<0.3 .’A_'fF R<0.5 c1 Dvd/&wu_‘ez) R<05 _ = . GL(Note2)
ol —- N ¢? v f oy
{7 T N %) | ~| 7|
- =T _ I o Vee
i |« i 2 o]
1 %% 3 A (Note 1)
M) se [
L 5= [
Model: 25BLL-R 0.01 Model: 25BLH-R 001 Model: 25BLLF-R
-0.05 V -0.05
4-C0.5 E=2 V/2 2
| -0.01
. ol V -0.05
23 S| 4-C05 E=2
22T
! 33
T 7
R<0.5 R<0.5 R<0.3 R<0.5 A :3.05 ;
oLmote2) C1 =U. =U. R<0.3 8
OV/A < | \ 9 R<0.2 R=<0.3
1 \L } } !, s GL (Note 2) =
HAT e e J Y
e %) e 1 n E b So
56 R<1 b + ¥
- - et I Noten) @
E-
n< [
Model: 25BLL-W v o Model: 25BLH-W Model: 25BLLF-W
0.05 -0.01
V 0,05
4-C0.5 E=2
V/2 2
-0 -
22 - QL v
T ST L L 4005 E=2
T :E
i
I
Rs<0.5 R<0.3 R<05 +005
c1 Sty C1 T c1 coer) C : A+~ R<0.3 (Note 1) Rs1 g
. I (Note 1) R<t 22 R<0.2 R<0.3
N 4 A Ll =
2 5 L 29 ’(iG){ ? W\ V
2 @ sey| | g 32
- 4|22 1 4 E
20
SE I
i< 1]
o0 =0 Model V-H-L-S-A-T-G SKD11
2 GVIRRSY 5B -18-6-10-2-0.5-30 60~63HRC
A
0.1mm increment Model v i L 3 0.1mm increment
5 5 . 1 B ) 6 6 08-18
6 6 2 2BBLH-L s ;
5 2BBLH-R 8 8 10 > 10-35
25BLL-L 8 01-25 25BLH-W
25BLL-R 8 10 10 10 10 - 60
25BLL-W 6 1
25BLLF-L 10 8 13 01-30 S0
2BBLLF-R 10
2BBLLF-W 20 45
6 3
13 8 25 01-35
10

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

Q®UN RISE 164

technologies

Die Transfers



siajsuel] eiq

S:UUIAADUINYILWUW
I Knockout Pin - flamtanyvifiu

OF OIL FREE™

Model: 25KOP
R0.2-0.5
N
Q| B .
T
+0.3 0
T+o L +0.1 P 0.0t
lolz10]=0 Model No - L-P SKS3
SGUVIHEY 25K0P10-50.5-5.05 53-58HRC
L P
0.1mm increment 0.01mm increment
4 1.00 - 4.00 6
3
6 1.00 - 6.00 8
8 2.00 - 8.00 10
25KOP 7.0 - 60.0
10 3.00 - 10.00 12
5

12 4.00 - 12.00 14
13 6.00 - 13.00 16

I Push Pins - waiu

- ——— R

OF OIL FREE™

0
H-0.3

T +8.3
Model: 25JPWH L D305

R =) Model D - L SKD61
EXAMPLE [ETRIEIVEEITOR 50HRC-

L

0.Tmm increment

2 B
3 8
4 10
25JPWH 5 10.0 - 100.0 +0.1 05<R<10 5 12
6 14
8 16
10 18

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
1 65 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



I Material Guide Units - gausznaulng

Die Transfers System

™
A Type Model: 25ZGUA OF OIL FREE
wuuAnasiulain 10 az a 8
Fixed to Die Set - ®\__, e [____‘
= T I
. Qo Z %/AA/ /41/44//4//41/44/%/
o 6 5 [|Y0.1
'@7 5 |
=
R<0.8
G
- 1.6 | .
RS TT7 /77 /777 777/ 77/ 777777 m N7
el § % T ( s e
&
L (60 + 80« 100) f &) é)
x
25ZGUA  Unit 60 45 TT—HL 777777 M1 =
257GUA-R Rall ® 80 10 65 Iﬂ o
25ZGUA-L Rail © 100 75 c2 2-M6 \2-07
B Type Model: 25ZGUB as
wuuAndsfuATEIWAnN as
Fixed to Die Plate a3a2
®\L a1 g 8
N ‘ —
-‘3‘ 2 @Mﬁ%ww&d%/‘ /ZL/EZ// 2072 ﬁz&z
‘(o? e 5 _||Y=0.1
N (20.02)
=
R<0.8
G
. —— 1.6,
'th?ﬁ e € e @
L (100 + 120 « 140) g
<
m L ‘a1 ‘a2‘a3‘a4‘a5 407 ® o1l 406HT @ 247 B=13
N -
252GUB  Unit 100 8 TT‘ T - H = H FF T = =+ [
‘ | U L] Ll L1
257GUB-R Rail® 120 8 20 32 50 105 w] [ H H H| oo 2 J
25ZGUB-L Rail O 140 15 o 4-M6 "
(elzp]=IzQ Model D-L-Y-W @ if B=13 or Y < 4, @7 through hole

SOVIRE 257GUA16-80-10-1005 (@) S50C (B5HRC-)

§ Induction Harden

Y
1mm increment 0.Tmm increment
13 60 5 3
25ZGUA 16 80 1-30 10.0 - 160.0 7 3
20 100 8 B
13 100 B 3
25Z2GUB 16 120 1-30 10.0 - 160.0 7 8
20 140 8 5
Y
Model D L : b X
1mm increment
13 5 3
60

25ZGUA-R
257GUA-L 1 1%% 1-30 ! 3
20 8 B
13 5 3

100

25ZGUB-R
25ZGUB-L 16 58 1230 ! 3
20 8 B

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

Q®UN RISE 166

technologies

Die Transfers



sisjsuel] aid

S:UUIAADUINYNLIWUW

I Material Guide Units - gausznaulng

OF OIL FREE™

A Type
MOd(?l: 25SUK-A (D L-60/807100 (@ L-125/160
wuuAnasiulaia
Fixed to Die Set
a4 —
az az
10 il T 8 10 al T 8
[ : [N :
o - O B sl o , 6 o0 B
f '\'j 1% | T-Y23 ||Ya0u ! '\'oj /% | T-v=23 Jﬁ
= R<0.8 = R<0.8
16, € 7 | 16, e |- /
e S s P e S SRR =5 R i i P
L (60 - 80 - 100) i 1 ’l@ L (125 - 160) i \1% g@
407 8-07
// 777777 e
i | -
e e I :
c2 2-M6 297 < 4-M6 4-97
o@ skss @@ ssoc
B Type
Model: 25SUK-B
uUUﬁﬁé’ﬂﬁ’Uﬁ'lﬂlsWﬁV]
Fixed to Die Plate (@ L=100/120/140 @ L-180/215
ar
as ae
a4 as o
10 T T_8 10 e T8
] ay g all o
ST le ol ¢ - T ot e el @ R —— ]
! R e — 6 > J; ! - 7 e > .
By oo - T-Y23 [Ys01 B @0.02) E T-Y23_[[Vs04
S 5
= R=<0.8 R R<0.8
o B o -
I I — o BT e T T s T T T & T o ==
D“ff@ @ ‘ $ @ ¢ mI: \;', . a @ @ @\ ¢@@$ E (;g (;5
L (100120 140) j A) é@ L (180 - 215) :
4-97 ©.q. 4-96H7 /M 4 ®6H7\ Q11 @
‘ / LT
i ] n 1 A [ jnlnile
S 5 5 g
= (| LT oes © = (1] I I 966
e 4-M6 41 c2 6-M6 56
®2-97 B=13 @4-07 -
= B=13
- Hq T\# ?—‘ f —
JHe AN JW‘ S

(@ ifB=13 or T = 6-8, @7 through hole

@@ ssoc

@ sks3

(@ ifB=13 or T = 6-8, B7 through hole

167 QUN RISE

technologies

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com



Die Transfers System

a0 Model B-T-L-Y-w
2R °5SUK-A13-8-100-5.0-120.5

Y W
0.1mm. 0.1mm.

increment increment

80 65 - -
13 6 8 10 10 5 3
100 75
125 25 60 100
60 45
80 65 - | -
6 6 8 10 13 10 7|3
100 75 o
125 25 60 100 %
60 45 G
2BSUK-A 10-T-30 | 7.0-160.0 S R =
80 65| - | - ®
20 8 10 13 16 100 10 | 75 8 5 o
125 25 60 100
160 25 60 135
60 45
80 65 - -
25 8 10 13 16 100 10 75 10 5
125 25 60 100
160 25 60 135
100 85
120 32 50 105 - -
13 6 8 10 8 20 5 3
140 15
180 35 47 75 115 115
100 85
120 32 50 105 - -
6 6 8 10 13 8 20 7| 3
140 115
180 35 47 75 115 115
100 85
25SUK-B 10-T-30 | 7.0-160.0
120 32 50 105 - -
20 8 10 13 16 140 8 20 115 8 5
180 75 115 115
35 47
215 75 130 190
100 85
120 32 50 106 - -
25 8 10 13 16 140 8 20 15 10 5
180 75 115 115
35 47
215 75 130 190

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 168

technologies



siajsuel] eiq

S:UUIAADUINYILWUW
I Stock Guide Plate - wsuddanlng
OF OIL FREE™

Model:258BM | | i3
L33 ‘ g
X

Model:258BA | | i
L 163 28

=g Model B-T-L-X-Y SKS3
DNVIIUN >558M13-6-150-3.2-2.8 37-41HRC

L X Y
1mm increment 0.Tmm increment 0.Tmm increment
13 6,8,10 10 - 200
25SBM 16 6.,8,10,13 10 - 200
S5SBA 1.0-5.0 1.0-T-3.0
5 20 8.10.,13,16 10 - 200
25 8.10,13,16 10 - 200

I Spacer for Stock Guide - aulwasansuananlng

OF OIL FREE™

Model: 25SSG
T3 ROIER] Model - A -8 -T (@@ ssao0
2 GUULESY ©55SG-100-40-55
pps Model A B T
¥ 1mm increment
m
@ 60
. 0.3 80
16 A 10.1 25
100
25SSG 40 5-60
125
160 55
200

1 69 %UN RISE Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Transfers System
I Lifter Units - aWwmasaiia

[

] OF OIL FREE”
A‘ 8@14 15 2-018
M12
g )
ﬁ\ @f\ W} >-l[,-:—“\\ ¥ \/ o| W
‘ 0
¥ Y o
Lo w16 4-M12

. ®
e

h2
h1
RS 5
Model: 6@\h 1 \U H f i [ 9 2
S me o < W
25LTHS ®\]~1 Rl ol e HE D IH o =
25CLTHS \ \ = \ = o
i | I | (=]
HRERIE A
o— [T U i
METRN NN N o
1oLl il e
L= ‘ 1 } 1
@/ Loty | \
| |l
m]»} @48
No. ‘ Description ‘ qty ‘ Material and Remark @Air Cylinder ‘ SMC
1 Lifter Plate 1 SS400 Cylinder Tube Inner Diameter @40, P63
2 Base Plate 1 S5400 Model MB
3 Guide Holder 2 STKMI3A Operation Method Double Acting Side Load
4 Guide Pin 2 S45C (55~60HRC) Gauranteed Pressure Resistance 1.5MPa (15.3kgf/cm?)
5 Air Cylinder 1 SMC Maximum Use Pressure 1.0MPa (10.2kgf/cm?)
6 Collar 1 STKM13A Minimum Use Presssure 0.05MPa (0.5kgf/cm?)
7 Spacer 1 SS400 Ambient Temp and Air Temp During Use  -5-60°C
8 Hex Nuts 1 SS400 M20XP2.5 Piston Speed 50~1000MM/S
9 Hard Lock Nut 3 = SS400 M20XP25 Stroke Length Tolerance +10+0
10 Flat Washers 1 SS400 for M20 Cushion Both Side (Air Cushion)
i Oil Free Bush 4 PTFE Type Bushing Connection Opening Diameter @40: Re (PT) 1/4, $63: Re (PT) 3/8
12 Hard Lock Nut 2 M40XP1.5 Installation Instruction Basic Form

[elz{p]== Model D-S-T
GVIGEN o5 THS40-50-16

Cylinder Stroke

Inner D
50 16 138 110
40 75 250 160 220 310 75 45 52 30 | 25 | 33 | 28 | 163 | 135
SBLTHS 100 19 188 160
(Standard) 50 6 148 110
63 75 270 160 | 240 330 90 70 75 35 | 30 | 48 | 32 | 173 | 135
100 19 198 | 160
50 6 138 110
40 75 215 | 115 | 185 [ 270 | 75 | 45 | B2 | 30 | 25 | 33 | 28 | 163 | 135
SBCLTHS 100 19 188 160
(Compact) 50 16 148 | 110
63 75 240 135 | 210 295 90 70 75 35 | 30 | 48 | 32 | 173 | 135
100 19 198 | 160

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 170

technologies



siajsuel] eiq

S:UUIA3DUIYNIIWUW
I H-Type Lifter Unit - adiaa ’gﬁm (H-Type)

50
75
100
125
150
175
200
225
250
275
300
50
75
100
125
150
175
200
225
250
275
300

40

63

A

138
163
188
213
238
263
288
313
338
363
388
148
173
198
223
248
273
298
323
348
373
398

D-S

ORDER [ELE
EXAMPLE [P

B

130
155
180
205
230
255
280
305
330
355
380
110
135
160
205
230

L
L1
L2
L3
2-918 La %1‘2‘%
© @
2 5 & N h =
AKJ \\iJ o @ =
hd ﬁ) A\ Ay
- 2-M16 Ls 4-M12
s (For lifting)
% Le
o) Mu‘ ?W‘ (‘Fjﬂ ‘(‘Fﬁm
- I I
© @\ 8
N~
| H
2l |71 LR R
ey
NNOW
B 35
om @e <<
RO
o
@912 r (D)
230 | D 2-Rc

Rc|D1| L |[L1|L2|L3|L4|L5|L6 W W1 W2 W3

1
2

1/4 152 270240 215 190 66 60 120 75 45 25 28

3
4
5
6
7
8
9

10
"
12

[\[eH

Description

Lifter Plate
Cylinder Holder plate
Guide Holder
Guide Pin
Alr Cylinder
Joint
Hex Socket Bolt
U Nut
U Nut
Hex Socket Bolt
Flat Washer

Spring Washer

OF OIL FREE™

qty | Material and Remark

SS400

SS400

FC250 with Graphite
S45C HRCE0 ~ 60
SMC MB40 or MB63
SS400

M6 or M8

M20

M24

M12 x 35

for M20

for M24

255 3/8| 75 290260235215 96 | 70 145 90 70 30 32

280
305
330
355
380

171 QUN RISE

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Transfers System

I H-Type Lifter Unit - aWwnasgiin (H-Type)
OF OIL FREE™

250

214 D
M12(2) 220

o %@f\ @/N(é i@ e
Ny o o gl Nk
i | J \V\
41 " aM12
( For lifting )

Die Transfers

— -
R T i i
Hl g A1 TS s
BRI T
g T ! 78
B @ | || ] 5
I !/‘ ! \+/ ;
| 30| | ‘ O70 :
o @
ol
o] Model D-S O : Q
25SHGT40-50 o5z | \2Rell4
cyBIl)nrier SIS (Sl Description Material and Remark
D S Travel
1 Lifter Plate 1 SS400
20 30 2 Cylinder Holder Plate 1 SS400
30 20 50 3 Guide Holder 2 FC250 with Graphite
40 10 4 Guide Pin 2 S45C HRC50 ~ 60
50 0 5 Joint 1 SS400
60 40 6 Block 1 SS400
70 30 7 Stopper 2 Urethane
80 20 100 8 Air Cylinder SMC MB40
90 10 9 U Nut 1 M20
100 0 10 U Nut 2 M24
110 40 1" Hex Socket Head Bolt =~ 4 M6
120 30 12 | Hex Socket Head Bolt =~ 4 M12 x 35
25SHGT 40 130 20 150 13 Flat Washer 1 for M20
140 10 14 Spring Washer 2 for M24
150 0 15 Shoulder Bolt 2 M8 x 20
160 40
170 30 v
180 20 200 fudiuilsznau | Accessory Parts
190 10 6) Block
i?g 400 vodsl | " Model D - H
2GR 25HLSPC40-30
220 30 10
230 20 250 20
26HLSPC 40
240 10 30
250 0 40

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

QUN RISE 172

technologies



siajsuel] eiq

S:UUIA3DUIYNIIWUW
I H-Type Lifter Unit - anina ’gﬁm (H-Type)
014% OF OIL FREE™

330 M12
300z0.2
270
50 240 2-318
L Ton oa o
d 0 e ). O |03
NI Fod o | |88
B© L e i
.37 | M16 4-M12
( For lifting )
[
%) §§ 160 @
Model: 25SHGT63 | |
| 2 l > L | l 9
. T Felb 0 ?
N PR RTTmlR ]
i\i 93“‘?[ { “}}}\"' [11]
b _ — ‘
T g = L LIS .
I e 8|17
O o
- 8 (@049 1 ‘ ‘ ‘ ‘ ‘25 g Gi
I :
230 | 1 ‘ o70 é
I el
[e]>Ip]==f Model D-S @m ! 1%
25SHGTB3-50 ors | 2R
Cysllcgrier C%’:g\'/‘l?r Description Material and Remark
10 40 1 Lifter Plate 1 SS400
20 30 2 Cylinder Holder Plate 1 SS400
30 20 50 3 Guide Holder 2 | FC250 with Graphite
40 10 4 Guide Pin 2 | S45C HRC50 ~ 60
50 0 5 Joint 1 S45C
60 40 6 Block 1 SS400
70 30 7 Stopper 2 Urethane
80 20 100 8 Air Cylinder 1 SMC MB63
90 10 9 U Nut 1 M20
100 0 10 U Nut 2 M24
110 40 " Hex Socket Head Bolt = 4 M6
120 30 12 Hex Socket Head Bolt 4 M12 x 35
25SHGT 63 130 20 150 13 Flat Washer 1 for M20
140 10 14 Spring Washer 2 for M24
150 0 15 Shoulder Bolt 2 M8x20
160 40
170 30 o
180 50 500 Fudruilsznau | Accessory Parts
190 10 6 ) Block
zfg 400 Model ‘ 5 ‘ " Model D - H
2 GVILRN O5HLSPC63-30
220 30 10
230 20 250 20
26HLSPC 63
240 10 30
250 0 40

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
1 73 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Transfers System

I H-Type Lifter Unit - aWwnasgiin (H-Type)
z14% 6F OIL FREE™

350 m12
320:0.2
290
55 260 2-018
D o O o
| [y ) o o
8 |© f\ﬂ/ﬁ (@) é 8-
? A PAUNS U BN E
| CTRF
50 16 4-M12
591 ( For lifting )
160
Model: 25SHGT80 ! T @
ol ‘ > ‘ fﬁ | | ©
®\ DX e -
‘ = H .l
- A IF [T /R T
L ® ‘ PN !
LI g = L1 U eI .
| | ! [ ! ! ! ! >
N — e R :
7 J : < o ! -
L 9 | INRI | 7 ¢
N 9@@ [* i i i ! ‘42_5» 3
— Nt | - I
230 \ ‘ 070 5
I -
Y
00 Model D-S (8110 ‘ 16&1 p—
ONIHNY >5SHGT80-50 o5 | o
Cylinder .
Bore Cylinder Description Material and Remark
D Travel
10 40 1 Lifter Plate 1 SS400
20 30 2 Cylinder Holder 1 SS400
30 20 50 3 Guide Holder 2 FC250 with Graphite
40 10 4 Guide Pin 2 S45C HRCH0 ~ 60
50 0 5 Joint 1 S45C
60 40 6 Block 1 SS400
70 30 7 Stopper 2 Urethane
80 20 100 8 Air Cylinder 1 SMC MB80
90 10 9 U Nut 3 M24
100 0 10 Hex Socket Bolt 4 M6
110 40 " Hex Socket Bolt 4 M12 x 35
120 30 12 Flat Washer 1 for M20
26SHGT 80 130 20 150 13 Spring Washer 2 for M24
140 10 14 Shoulder Bolt 2 M8 x 20
150 0
160 40
170 30 Y
180 20 200 Audruilsznau | Accessory Parts
190 10 6 ) Block
200 0
-0 10 Model D H [e]=1p]=~8 Model D -H
25U UEN °5H SPC80-30
220 30 10
230 20 250 20
25HLSPC 80
240 10 30
250 0 40

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 %
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 174

technologies

Die Transfers



siajsuel] eiq

S:UUIA3DUIYNIIWUW
I H-Type Lifter Unit - anina ’gﬁm (H-Type)

Model: 25SHGF

D-8

ORDER [EE!
[RGVILEN >5SHGF40-50

Stroke
Inner D S

Cylinder

75
100
125
150
175
200
225
250
275
300

50

75
100
125
150
175
200
225
250
275
300

40

63

88 b2

98 75 3/8 290 260 235|215

(Travel)

OF OIL FREE™

L
L1
L2
Ls 2-318
[ [ [
O S A e O
ol O @ Y I 4=
QW o g Wﬂ*«
| | | M\J\
B
4-M12
@K L4

T
i
L

75

Bore

174 270 240 215 190 120 75 45

145 90 70

oD

/’k’.

| |
| I
\ \
i i
| |
\ \
I I
‘ Cylinder ‘
I I

I
I I
I i

80 + Travel (S)
A+ Travel (S)

f

2-Rc1/4 (SHGF40)
2-Rc3/8 (SHGF63)

Description

Material and Remark

Lifter Plate

2 | Cylinder Holder Plate
3 Guide Holder

4 Guide Pin

5 Air Cylinder

6 Joint

7  Hex Socket Head Bolt
8 | Hex Socket Head Bolt
9 Spring Pin

10 Hard Lock Nut

SS400

SS400

FC250 with Graphite
S45C HRC50 ~ 60
SMC MB40 or MB63
S45C

M6x35 (D=40)
M8x35 (D=63)

M12 x 35

@6 x 12

M35

175 ®UN RISE

technologies

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com



Die Transfers System

a <

H-Type Lifter Unit - aWimasaiin (H-Type)

OF OIL FREE™
150
40
4-@13.1 31:) 8 40(D) Cylinder Bore 2-011
¥
Qs
ki 9 o
K ™| ©
/‘\)

g 70 2-M8
Model: 25SHLS ZOGHT_ 902005 .

125

12

Travel

DISCO!

[

Material and Remark

No. ‘ Description ‘ Qty ‘ Material and Remark

1 Lifter Plate 1 SS400 Air Cylinder 1 CQ2A40-50Z SMC
2  Cylinder Holder Plate 1 SS400 9 Hexagon Socket Head Bolt SCM435 M6
3 Block 1 SS400 10 Hexagon Socket Head Bolt 2 SCM435 M8X20
4 Collar 1 STKM @16X3.5t 1 Hexagon Socket Head Bolt 1
5 Stopper 1 Urethane @40X5t 12 Elbow 2 KL10-01A SMC
6 Guide Pin 2 SUJ2 ¢13X70 13 Irregular Diameter Union 2 0-12A SMC
7 Bushing 2 25SMB013-010 14 Tube 2
Model D - S
GV °5SHLS40-20
Model Cyl|ndgr Bore Stré)ke
ESHLS 40 20 Block height T 30 0
30 Cylinder Travel 50

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 176

technologies

Die Transfers



siajsuel] eiq

StUUIA3DUIYNLIWUW
I Mini Lifter Unit - @Wimasufia (Mini-Type)

Model: 25MLGT

[e]=1p]=l2@ Model D- S
2R o5MIGT40-50
Model ‘ Cylinder
Inner D

25MLGT 40

Stroke
S

10
20
30
40
50
60
70
80
90
100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250

K
40
30
20
10
0
40
30
20
10
0
40
30
20
10
0
40
30
20
10
0
40
30
20
10
0

OF OIL FREE™

2-g18

25 112

o
S
o
80 155
55 125
(BX9X3 I 70

19

75
106

Cylinder
Travel

100

250

T
I
| :
| : | 2 g g
Hi:n E
N e
| | ol £
| | 53
L. D 3
f o
| ‘ &
Ll e 3
7o
052 2-Rc1/4
No. ‘ Description ‘ Qty ‘ Material and Remark
1 Lifter Plate 1 SS400
2 Cylinder Holder Plate 1 SS400
3 Guide Holder 1 FC250 with Graphite
4 Guide Pin 1 S45C (HRCB5 ~ 60)
5 Joint 1 SS400
6 Block 1 SS400
7 Stopper 2 Urethane
8 Air Cylinder 1 MB40 (for S) by SMC
9 U Nut 1 M20
10 U Nut 1 M24
M Hexagon Socket Head Bolt 4 M6
12 Hexagon Socket Head Bolt 2 M12x35
13 Flat Washer 1 for M20
14 Spring Washer 1 for M24
15 Shoulder Bolt 2 SCM435 M8x20
v
Fudrulsznay Vodel ‘ 5 ‘ v
Accessory Parts
10
® Block -0
ORDER Model D-S 25HLSPC 40 30
GV o5 SPC40-20 40

177 QUN RISE

technologies

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com



Die Transfers System

I Embed Lifter Unit - annasgfinuuuils

=

Model
25SFLN40-SF

ORDER
EXAMPLE

‘ Stroke
S
25SFL s
25SFLN 40
25SFLT 80

S - Spring

Spring
Type

SF

6{

™
Model: 25SFL OF OIL FREE
o M8 Depth 55 3650049
25-01 |15, c13 15 I |
) ! 1
+ 3 !
EIS - a |
+ N - -
= g Ui
30 30 P s -
-3 A
Model: 25SFLN 3 \ /
g (I VA | 3
' w' 5
A
w () A X\@
) / U
= ] y
*Clearance for /J V v,
Travel End @42
¢65:8'0J

(Hole diameter)

Material and Remark

Description

Qty

O) Silde Pin 1 FC250 with Graphite
@ Stopper 1 SKS3 (HRC58-)
® Coil Spring 1 SF40 or SL40 spring

Spring SF40 | SL40

SF Type
Initial Final
Free Length Length Load (N) Load (N)
100 150 121 485 735
75 125 10 175 146 415 106 988
55 200 166 428 178

S5SFL 15 100 125 10 150 121 1022 106 1651
25SFLN 40 SL 96 (170 | 75 | 126 | 10 175 146 876 106 2084
2OSFLT 60 55 140 25 200 181 502 121 2088
v
Fudruilsznaul
Accessory Parts
@ Silde Pin @ Stopper
[e]=]p]=> Model S
SBSFL-P40 Order Code
Stroke
Model s 26SFL-S
15
25SFL-P (for 25SFL)
25SFLN-P (for 25SFLN) 40
25SFLT-P (for 25SFLT)
60

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

Q®UN RISE 178

technologies

Die Transfers



siajsuel] eiq

S:UUIAADUINYNLIWUW

I Embed Lifter Unit - aWwnasafinuuuils

=

Model: 25SFLK

S - Spring

ORDER [RELE
RINVY o5SFLK40-SF

AFOKFREE“
M8 Depth 55 265 0049
1
] ! e
c13 15 ." ‘ |
s = I (T
) mlo T=Ts g
IR B B e ey .
) ST 5 i —
0 30 - < ‘
jo2}
£ |
b=l
@ @ ‘ E=
- o~
|
AN
g |
.
@42
@65 10"
(Bore Diameter)
Description (€13Y Material and Remark
Silde Pin 1 FCD450 with Graphite
Stopper 2 SKS3 (HRC58-)
Spring SF40 | SL40 @ Colil Spring 1 SF40 or SL40 spring

SF Type

25SFLK
25SFLKN

100

‘ Spring Initial Final
‘ L2 | L3

‘ Freelength | Length | Load (N) Length | Load (N)

100 150 121 485 735
96 170 75 1256 10 175 146 415 106 988
55 200 166 428 1178
s 65 210 401
120 200 55 | 185 10 250 220 301 130 1204
45 230 201

SL Type

Spring Initial Final
L2 L3

‘ Free Length ‘ Length ‘Load (N)‘ Length ‘Load (N)

15 100 125 10 150 121 1022 106 1551
40 96 170 75 125 10 175 146 876 106 2084
SBSFLK 60 o 55 | 140 25 200 181 502 121 2088
25SFLKN 80 65 260 7056
90 120 200 55 205 60 300 270 529 180 2114
100 45 280 362
Fudruilsznay
Accessory Parts
® Silde Pin Mode! ‘ stroke @ Stopper
Model S
40
25SFLK-P (for 25SFLK) 60 25SFL-S
25SFLKN-P (for 25SFLKN) 80
90
100

179 ®UN RISE

technologies

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com



Die Transfers System

I Embed Lifter Unit - ﬁwma Anuuuce
OF OIL FREE™

Model: 25SFLG o
G005 2-pd1 »D 0,05
E 2-p8H7 ®\ —E—‘
{: ] ~ T [+~
y T !

<~
-

O e
180.02|
Ls
L
—
|
—
T
Tj
S
" (Travel)
L1

| \ 1 |
wi o T A1 e
1 f— ] ‘ \\// ‘
) [
— | I\ |
Model: 25SFLGN NN ~
an - 2
O] an o
}Le ] \ 2
, I \I ©
<& X \ hd
(o} 7 o
! [0}
o 20 “Na a
od
. »D1
a Model: 25SFLGT -
@ D = 80 only »D+0’ (Hole diameter)
b { No. ‘ Description ‘ Qty ‘ Material and Remark
4 ©0) Silde Pin 1 FC250
Spring  SF SL @) Stopper 1 S45C with Graphite
REEIY Model D - S - Spring ©) Coll Spring 1 SF or SL spring
EXAMPLE [l Rellomlomel= @ Washer 1 S45C
Spring
oD
65 15 90 55 10 37 25 39 40 85
25SFLG SF
25SFLGN 40 SL 140 85 15
25SFLGT 80 53 32 49 49 50
60 180 125 30

5 ‘Strsoke‘ )
: : Load N
65 15 116 156 175 185 219 106 767 115 185 175 15 464 105 1623
40 165 230 250 230 314 150 1569 165 230 250 230 662 150 | 3311
& 60 195 285 300 285 196 = 166 1764 240 330 350 330 473 210 331
Fudruilsznau

Accessory Parts

@ Silde Pin @ Stopper ® Washer

[e)a1p]=28 Model D-S (e]z]p]==8 Model D [e]=]n]=l28 Model D
2R O5SFLG-PE5-15 EXAMPLE |elSSisReRs 2R O5SFLG-W65

Model D Sl Model D | Wl | LB | h | L4  d Model D | DI

S
65 15 seerla.s 00 25 68 20 48 13 LG 65 63
25SFLG-P (for 25SFLG) 5SFLG- 5SFLG-W
2BSFLGN-P (for 25SFLGN) g 40 80 N 80 78
60

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 180

technologies



siajsuel] eiq

S:UUIAADUINYNLIWUW

I Embed Lifter Unit - aWnasafinuuuils

2 ™
Model: 25SKIL OF OIL FREE
= 2 3
©
M8 ‘ G/ 2913 - l, I 5
T 5 "
- i ols " -
B \'.$ g ol o = h | @
a —h S b
S .13 °°% " \@
b o ] T
{\ ',
Y , ]
\_2-28H7 y \ -
TIE
1@ §
Model: 25SKILN
® LigaduAdsiudan
Not attached to Liftblock
9 \e ]
+— *
da
\
oD %"
(Hole diameter)
Description Qty Material and Remark
Silde Pin 1 S20C with Graphite
Stopper 1 SKS3
[e]={p]=z@ Model D - S - Spring Coil Spring 1 SF or SL spring
IDVNVIZNN >55K| T50-55-SF Washer 1 S45C (HRC18 ~ 22)

Stroke Spring
S ype

25SKIL SF
25SKILN 60 80 sL 160 43 25 30 105 155 48 40
25SKILT

75 100 200 53 30 40 125 195 55) 50

SF Type

Initial

SL Type

Initial

50 50 176 156 162 105 566 175 156 339 1056 1188
60 80 250 230 201 150 1003 250 230 423 150 2114
75 100 300 280 261 180 1568 300 280 552 180 3311
Fudrulsznau Model: 25SKIL-BA
5 10
Accessory Parts 2-M8
@ Silde Pin @ Lift Block &
e)=1n]==) Model D-S o)=10]==0 Model W - o3y =
2R o5SKIL-P50-50 2GR o5SKIL-BA4G
. 30
Model Strgke Model | W S"dg PinirlalB|P 5
Model: 25SKIL-BB
25SKIL-P (for 25SKIL) | ° =0 SBSKIL 4 °0 15 19
2BSKILN-P (for 25SKILN) 60 80 oA 50 60 130 - |- | - T
2BSKILT-P (for 258KILT) 1o 50 - @?EP
52 50 B8 40 39 —
9 Stopper 20SKIL- 65 60 40 64 40 48 il
Order Code BB <]
75 75 80 55 B5 B
2BSKIL-S A

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

181 QUN RISE

technologies



I Embed Lifter Unit - annasgfinuuuils

Die Transfers System

OF OIL FREE™
Model: 25LGIL 518
_ 30 » M10
—
= < ' o
— T o 1 R
= ol 5 S ol
== + =| 2 i
= ol B g al g X /
= <N F ] 4 g = |
= /] Y g / \ /
— + < | © | s
= S ) = % I
T o i L
04 12 z % W’
(For bottom dead 26 o)
center lock) N YRR %
| \
0 @/ /A\CD
Model: 25LGILN 010
@ Isi.ﬁgﬁmmﬁm 026
Without Tap | #27
. Material and
No. Description Qty N —
0) Silde Pin 1 S45C
Rl Model D-S @) Stopper 1 S45C (HRC50-)
251 GIL42-40 ©] Coll Spring 1 SSR26 spring
‘ Stroke ‘ F Spring
‘ 3 ‘ Initial Load (N) Final Load (N)
25LGIL 40 70 90 26x125 97 355
42
2BLGILN 60 90 110 26x175 115 392
Fudruilsznau
Accessory Parts
® Silde Pin @ Stopper
[e]={p]=>@ Model D -S
25LGIL-P42-40 Order Code
Model ) St’é’ke 25LGP-T
25LGIL-P (for 25LGIL) 4> 40
25LGILN-P (for 25LGILN) 60

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103

Website: www.sunrisegr.com Email: sale@sunrisegr.com

Q®UN RISE 182

technologies

(2]
2
9
L
(%)
c
©
i
'_
v
[a)




siajsuel] eiq

S:UUIAADUINYNLIWUW

I Embed Lifter Unit for Progressive Die - aWwnasafinuuuils

OF OIL FREE™

Model: 25PGLI Model: 25PGLIN
90
26 38
.5
o 7\1/7?1 (SN 1 o ,W,éw/ AN
ﬁ‘(\l**:é‘ﬁi 7‘{'\[%:,,(\. ,,:é‘ﬁf 4{"[?:,,
AN R @Y AN AN
PN .
B
4
(For bottom dead 12 66
center lock)
018 2-M Depth 20
ou| o D
| o S
e===tl 1N fl—r——fl! =5
N T T
3
0n|s —
=8
T
T}
ey
|
X
210
@31 No. Description Qty | Material and Remark
@45(D)g6
(Hole H) Q) Silde Pin 1 S45C
RET] Model D - S @ Stopper 2 | S45C HRC50-
IR >5pGL45-60 ® Coil Spring 1 SF spring
Spring
Initial Load (N) | Final Load (N)
40 74 9 90 60 25 30x125 181
25PGLI
25PGLIN 45 60 925 75 110 75 25 30x150 71 637
80 120 B 140 105 35 30x200 71
Fudruilsznau
Accessory Parts
@ Silde Pin
[e)=1p]=2@ Model D-S
ROV o5PGL-P45-60
Stroke
Model D s
40
25PGLI-P (for 25PGLI)
25PGLIN-P (for 25PGLIN) 45 60
80

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

183 QUN RISE

technologies



Die Transfers System
I Lifter Guide Post Set - gnaninasinalna

OF OIL FREE™
Model: 25LSB Model: 25LGPP-T
Stopper Block Stopper Plate
35 @48
3 — OO
2|
Sl e A i 30
| 60
.@—J = (L)

40

©26

#4003 (D)

4 ; ;
Model: 25LGPS g e
Whole Set ¥ T
(Guide Post + Stopper Block + Stopper Plate) Model: 25LGP-T 2-918

Lifter Guide Post

Induction hardening

-0.060
15 KR4S ormore 45 ©60 0106
ORDER [UCLCNECHN Model | D | 10, N
EXAMPLE |IEERSEV) I 2 R
25LSB 40 = o m\ 2-013
e — oo oo
™ ¥ T For lock
ettty T 9 Q I+
ORDER [ECLCHECN Model | L [ D >
GV o5 GPP-T60 ©
2BLGPP-T 60 Wii 1
L H
[olzp]=z8 Model S . M16
25U °5( GPS60

Model Strgke L H Model Material and Remark
40 120 80

25LGP-T 1 S45C (HRC48+)
25LGPS :
SBLGP-T 60 140 100 25LSB 1 S45C with Bolts
80 160 120 25LGPP-T 2 S45C

I Lifter Guide Post Set - gnaninasinalng

Model: 25LGPP-T OF OIL FREE™
Stopper Plate

i EN v
@@ Q 1 EXAMPLE [ESRCENE

2-918

30 Model ‘ L
60

25LGPP-T 60
(L)

Model: 25LGPP-P
Model: 25LGPPS Lifter Guide Post

Whole Set detion hardent
(Guide Post + Stopper Plate) for b oo area 9 60 -0.060
HRC 48 or more 7] ©®60 -0.106
s 2-M16
Depth 45
= %6
o — o9
< + — —1 Q - @
: . Ty
(elz{p]=38 Model S L 35
EXAMPLE [RESREISS)
Stroke .
Model ‘ ‘ ‘ Model ‘ Qty ‘ Material and Remark
25LGPPS 25LGPP-P 1 S45C (HRC48+)
25LGPP-P 60 160 100 25LGPP-T 2 s45C

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 184

technologies

Die Transfers



siajsuel] eiq

S:UUIAADUINYNLIWUW

I Lifter Components - Fuduavned
OF OIL FREE™

LA

Model: 25SKIL-B Model: 25SKIL-BA Model: 25SKIL-BB
Lift Block Lift Block w/ hole (A) Lift Block w/ hole (B)
5 C5 5 10 2-M8 15 19
gl / i I
] —@f o P
o 7 ol < oy / Lo
K\T ij ; &T ﬁ,\—I ™ ; T “r/‘ o o ;
O P
30 30 3 =
B
55 55 A
o Q =
@ l LOI “ / ] LDI 0
I | i g
3 3
REDERY Vodel W (@) sks3
SRS o5skiL-BB52
Model W Model W ‘ A ‘ B ‘ P ‘ D
45 52 58 40 39 26
225538KK\|LL-_BBA 50 25SKIL-BB 62 64 40 48 35
60 75 80 55 55 a2
Model: 25SFSG
Side Gauge
20 32 20
15 24
@ s4sc
[ Model W - L
@ ORDER
- ) ©) :Ggfﬁ 25SFSGA5-75
SR Ry — Lo
8 EEEnsl 0 Model W L
= | + —
v )\% ‘ )\‘\o’ 255FSG 45 75
7 } 9 !
35 14
25
L

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
1 85 sUN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Transfers System

I Lifter Components - Fudrudvinad

Model: 25SFRG OF OIL FREE™
Rear Gauge
L
20 32 @ s4sc
15 24
I =00 Model W- L
i | OIS o5SFRG45-55
c) — -
— %S @ @ [Te) g Model w L
< ™
- % h SL*@ ‘ 5 50
< g S, (H4)- 25SFRG 45
Ne [ >} T @ 55
7 ’ 9
35 14

Model: 25SFLPA

Advance Pin

d RRLTEGY Model D-L @ sasc
D 8
’-——-—‘ AUl 25SFLPA30-80 &; Induction Harden

‘ Recommended Rt S0ES
3 10mm increment Bolt
- 40 ~ 60 20 M8x35
25 9 14 52 26
70 ~ 100 40 M8x55
50 ~ 60 25 M12x50
@d1 30 70 ~ 100 13 20 45 M12x70 62 35
25SFLPA
oD 70 - 100 65 M12x90
50 ~ 60 25 M12x50
35 70 ~ 100 13 20 45 M12x70 75 42
70 ~ 100 65 M12x90

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 186

technologies

Die Transfers



siajsuel] eiq

S:UUIAADUINYNLIWUW

I Bell Crank Lifter Parts (Bearing Set) - ﬁﬂttu‘%qﬁm%’u Bell Crank

Wesnon OF OIL FREE"
y |
g
2-013 50
(Counterbore)
Model: 25SBCRA j T - . .
. — - e I3
Iron Bushing i = e 28
S_ -- --
I :E
g
2-@d 2-10H9
w
No. Description ‘ Qty ‘ Material and Remark
0) Case Body 1 | SS400
@) Cap 1 S$S400
©) Bushing (half) 1 FC250 with Graphite
ORDER LI @ Dowel Pin 2 SUJ2¢g5X10
VNN >5SECRA3S (®  Hexagon Socket Head Bolt 2 SCM435

25SBCRA 35 0039 170 110 75 140 105 70 85 44 18 16
0
45 180 120 85 150 120 80 40 56 18 16
Wb 0.02
|
P |
O .
@ =
Q 50
2-913 ®\
© F .
Model: 25SBCRB “e®e _
Copper Alloy Bushing } i *'.4*.” 8 8
= | HE =
E
| Hi
| ! o
| HE:
2-@d 2-@10H9
w
No. Description Qty Material and Remark
oORDER LIS O] Case Body 1 SS400
DNVIZNN >5SBCRB35 @ Bushing 1 Copper Alloy with Graphite
D Tolerance ‘
25 00 130 80 105 85 60 33 13
25SBCRB 35 10,030 170 110 140 105 70 44 18
45 0 180 120 150 120 80 56 18

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
1 87 %UN RISE Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Transfers System

I Bell Crank Lifter Parts (Shaft) - inw&1%5u Bell Crank
OF OIL FREE™
60

60
. R4 C1
Model: a E—
25SBCHA \% © i
L
Lo
60 60 60
6.3 R4 C1
Model: Q[
25SBCHB \? -
‘ L1 L2
Lo
60 60 60 60
6.3 R4 C1
Model: D[
25SBCHC @ s
L1 L2 L3
[e)x1p]=20 Model S - L -L1-L2-1L3 Lo
SS400
25SBCHB28-500-600 @
Model S Tolerance L, L1, L2, L3 D Tolerance LO
28 20 -0.065 25SBCHA
25SBCHA 38 o 1mm increment 35 -0.m7 LO <1600
25SBCHB 02 The sum must not
25SBCHC : exceed LO -0.080 25SBCHB & 25SBCHC
50 45 _0142 LO < 2000

I Bell Crank Lifter Parts (Arm Block) - %ud'mé'm%u Bell Crank
OF OIL FREE™

A
S M
M
al ams
-
|- - o - T =M
Model: 25SBCBC i I * ISy 2
i Yy O
T nTn = J
| 1 | |
cs
—/pd W | o P

[e]z]p]==8 Model D
$8400
e ©

25S8BCBC 38 90 80 30 30 65

o DO 55 25 40

50 110 100 40 26 18 18 16 35 80

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 sUN
Website: www.sunrisegr.com Email: sale@sunrisegr.com

-_—

88

technologies

Die Transfers



siajsuel] eiq

S:UUIAADUINYNLIWUW

I Bell Crank Lifter Parts (Lifter Arm) - wauang%su Bell Crank

? —i—f Welding / Induction hardening AF OIL FREETM

®D
: AN AN R W(
9 B
- < a— L)) wy

Model: = = \
25SBCLA i

L
6.3, o;
6.3
Model:
25SBCLB Description Qty | Material and Remark
Lifter Arm 1 S45C
[e]={p]=l2 Model S- L Arm Block 1 SS400
IR o538 A38-150 Hexagon Socket Head Bolt 2 SCM435
28 100 ~ 300 75 60 40 25 10 15
25SBCLA
25SBCLB 38 100 ~ 400 90 80 50 30 20 20
50 100 ~ 600 110 100 50 30 20 20

I Bell Crank Lifter Parts (Shaft Arm) - cqﬂuu’%\iﬁ'nﬁu Bell Crank

@ -C. M
C
L . oo e
Weldi i I I
eldin a :Lthi T

%’rf e

i T L
Model: — @\?‘7
< e ) =g
T

25SBCSA —

@/ L h Sl 7

H1

H
T
1]

Weldin
=== -
1 ; 63/ 3
Model: i ¢ =
25SBCSB H—
i 6.3
N [ 3
No. ‘ Description ‘ Qty ‘ Material and Remark No. ‘ Description ‘ Qty ‘ Material and Remark
(O) Shaft Arm 1 SS400 ® Oilless Bushing 1 Copper Alloy with Graphite
(@) Arm Block 1 | SS400 ® Washer 2
® Joint 1 S45C @ C type Retaining Ring 2
@ Joint Pin 1 S45C Hexagon Socket Head Bolt 2 SCM435
[e]>p]=>f Model S - L - Screw Thread
2R °5SBCSA38-110-R
L Screw Thread
10mm increment (joint area)
28 100 ~ 300 R 75 60 40 95 75 25 | 30 16 16 M20x2.5 15
25SBCSA ~ (Right Hand)
S5SBCSB 38 100 ~ 400 L 90 80 50 110 85 35 40 20 20 M24x3.0 20
50 100 ~ 600 (Left Hand) 110 | 100 50 110 85 35 40 20 20 M27x3.0 20

1 89 %UN RISE Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Transfers System

I Bell Crank Lifter Parts (Arm & Joint) - wauand1wiu Bell Crank

. OF OIL FREE™
~9» Induction hardenin
o |
Model: 25SBCL
ORDER [RUSECICE S45C L .
2GU0E N °5SBCL38-110 HRC55 or more
L 2
Model S 10mm increment a o] B e f D R t kS
»
28 100 ~ 300 €5 15 60 25 20 40 10 15 g
25SBCL 38 100 ~ 400 40 15 80 30 30 50 20 20 L
(0]
50 100 ~ 600 50 20 100 30 40 50 20 20 [a)

» 4T 3w ° \ﬁ
|| i

odH7
oS
[ ] i -
Model: 25SBCS .
L1
(elx{p]=zf Model S -L ®@ $S400
EXAMPLE [ERlock R R ©) Copper Alloy with Graphite
L
Model s 10mm increment
28 100 ~ 300 35 15 60 40 20 | e 22 e 20 16
25SBCS 38 100 - 400 40 15 80 45 30 2% 28 2% 225 20
50 100 - 600 50 20 | 100 80 0 3% 28 25 25 20
C
C +0.2
c10 B
n[q []
( } S o]
4 e
= = T
Model: 255BCJ @ ss400 FE | e
[0z 10)=:0 Model C-M-P - Screw Thread L | | ‘
2IWIZAY >55BCJ40-18-15-R \ MxP
Screw Thread For
Model c M P (joint area) Cylinder Diameter
40 30 e 75 25 16 0% . D63
20 25
R
22 15 ' (Right Hand) D8O
25SBCJ . 5100
24 | 30 0021
50 (Left Hand) 40 110 8 35 20 o 20
15
27 D125
3.0

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 190

technologies



S:UUIAADUINYNLIWUW

I Bell Crank Lifter Parts (Joint Pin) - Saaiudnsu Bell Crank

= Co0.5 3, _ Induction hardening _ 3,
—— T\ In

OF OIL FREE™

| o o)
S
Lo |l L |
H 1L
Model: 25SBCJP L
(0]a{p]=z Model D S45C
EXAMPLE [RelsiSi=teN]|zF2le] HRC55 or more
o Model D d L L1 L2 L3 For
= @e Cylinder Diameter
4 0 0 +0.14
S 16 0027 15.2 o 53 465 115 5 2.7 D63
= 25SBCJP
oy 20 0 19 0 65 5655 135 014 29 D80, D100, D125
g -0.033 ~0.21 : : 0 : ' '

I Bell Crank Lifter Parts (Bush Holder) - yslaainasdwmsu Bell Crank

OF OIL FREE™
Model: 25SBCBHA

75 50+S 35 /@
®
- @ - ®\ [
® e e
Slslol lese =i7r — | 3| o
o8| [o® S+ — | 8| &
& - -/
Weldin 20
160+S B
Model: 25SBCBHB
75 50+S 35
] 4.5
ol 5o [Yed iR M of 5
Slel 8 [d*] = i 8 e
s S e ——————— ]
Welding /" |
10 | |20]
L
160+ S

® _ sTB33
SRS 25SBCBHA35-125 @ FC250 with Graphite

Stroke S

Tmm increment

35 116 54 44 40 18 64 45
25SBCBHA +0.10 S <350 150 200

+0.05
25SBCBHB 50 135 762 62 602 23 78 70

1 91 sUN RISE Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Transfers System

I Bell Crank Lifter Parts (Guide Post) - Tnslwad1uiu Bell Crank

OF OIL FREE™
Model: 25SBCP

4-M12 25 10 (Area not allowed for sliding) A(E)o Hz:02 253102 Section A-A
r\ 16 —A|
— a N
Ql = — | =} .
© \ | ° =
- . =A
0Q Range of induction hardening

190+8S

(elzp]=zQ Model D -S S45C
2NN >558CP35-200 HRC55 or more

(2]
2
9
L
(%)
c
©
i
'_
v
[a)

Stroke S
1mm increment

-0.050

25SBCP oo S <400

50 65 45 50.5 21 42

I Bell Crank Lifter Parts (Connecting Rod) - mautuatmasawsu Bell Crank

OF OIL FREE™

Model: 25SBCCR

M xP M xP

\_Right hand F LeEt hagd /
thread r'——[ threa
T T

@D

NEEEN Lu

ORDER N JT:
2GRS 25SBCCR24-300

L
1mm increment

25SBCCR 24 L <360 30 3 40 24 25

27 35 3 40 30 30

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 192

technologies



siajsuel] eiq

S:UUIAADUINYNLIWUW

I Pusher Unit - wuisasuiin

Model: 25SODP

OF OIL FREE™

91
15_40
35__40
L
A NN
‘ Y A PR e I | —_— ) e
Is A ] I
| ol ol o
i - - - T | 1) B O
e / i -~ N N
| B
L ””””” “Y_’I’i ] I =
® I
S
@\ M14x1.5P*\ (Travel )
Condition in storage
é': il
it 211
— Sl
S FET
e i[]
L
d—= o
v ©
< o
0
N
Pipe connection ||
Rc1/4
No. Description Qty Material and Remark No. Description Qty Material and Remark
1 Base Plate 1 SS400 9 Connector Holder 1 SS400
2 Bracket 1 S5400 10 Connector 1 NCS-252P/R Nanaboshi
3 Connector Plate 1 SS400 M Joint Pin 1 S45C
4 Set Plate 2 SS400 12 Stopper Pin 1 S45C
5 Guide Pin 2 S45C 13 Chain 1 Height : 200 mm
6 Bushing Holder 2 S5400 14 Cover 1 SPC
7 Guide Bushing 4 FC250 with Graphite 15 Cover 1 SPC
8 Limit Switch 1 WLCA2 Omron 16 Air Cylinder 1 SCA2-LB-40B CKD
(@]z{p]=Izq Model S - L Stroke
Model L
2R 25SODP150-390 S
150 390
25S0DP
250 490

193 QUN RISE

technologies

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com



Die Transfers System

I Pusher Unit - watasyiin

OF OIL FREE™
Model: 25SOSP

L
L 15 40__40 65
4
Pipe connection 15 35
Re1/4 M14x1.5P
~ 1 ©
= p ‘ o A
M16x2P Js e QAN -
S o I~ 8¢
K J
1 >€3F
f
S
( Travel )

o)
<
©
No. Description Qty Material and Remark No. Description Qty Material and Remark
1 Base Plate 1 SS400 9 Connector Holder 1 SS400
2 Bracket 1 SS400 10 Connector 1 NCS-252P/R Nanaboshi
3 Connector Plate 1 SS400 I Joint Pin 1 S45C
4 Set Plate 1 SS400 12 Stopper Pin 1 S45C
5 Guide Pin 1 S45C 13 Chain 1 Height : 200 mm
6 Bushing Holder 1 SS400 14 Cover 1 SPC
7 Guide Bushing 2 FC250 with Graphite 15 Cover 1 SPC
8 Limit Switch 1 WLCA2 Omron 16 Air Cylinder 1 SCA2-LB-40B CKD

(elz1]=z8 Model S Stroke
Model L L1

EXAMPLE IEISYeRYSIE S
150 395 340
250 495 440

25808P

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 %
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 194

technologies

Die Transfers



siajsuel] eiq

S:UUIAADUINYNILUWUW

I Pusher Unit - watiasaiin

NI

OF OIL FREE™

105

Model: 25APSG
Model ‘ Type
25APSG-B with bracket
25APSG without bracket
S+170 5 75
| 35_25
Pipe connection Rc1/4 3-M12 \
= = ;: © Ok .
—— T ©
,,,,,,,,,,,,,,,,,,,, o H @ 7
Ini g9 ||\ |] .
i - - = 3
,,,,,,,,,,,,,, = SN
,,,,,, m—i RN/IN
; [V T |
30, 12
40
é’"ﬁ
’’’’’’’’’’’’’’’ R
A[ij“
©
N
Female male 20
Bracket ‘T
- - Q} ! Tan
~ ~ WV
‘ ol ©
0 | O
I
1= & ‘ KD ‘ [T}
=] ! <
u 80 10
100 4-13

Description Material and Remark Description Material and Remark

1
1
1
1

Copper Alloy with Graphite
WLCA2 Omron
KB-01

CA2L40

Base Plate SS400 Guide Holder (lower)
2 Bracket 1 S5400 8 Limit Switch
3 Connector Plate Mounting 1 SS400 9 Cable Clamp
4 Collar 1 SS400 10 Nylon Connector Set
5 Guide Pin 1 S45C @22 M Air Cylinder
6 Guide Holder (upper) Copper Alloy with Graphite

ORDER [RELE
REVILESY >5APSG-B200

Model Stroke

25APSG-B (with bracket)
25APSG (without bracket)

150 / 200 / 250 / 300 / 350 / 400 / 500

195 ®UN RISE

technologies

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com



Die Transfers System

I Swivel Adapter for Pusher Unit - auatinasdnsunaitiadaiin
160 OF OIL FREE™

© ‘ v 6\‘[@7
] @% F%»

|
Qlolo [ ‘ olo
No mri ‘ | o
(> r\ ‘ :@} ‘ )
‘ g
| | q
Model: 25ADR 4014
L Material
No. Description Qty and Remark ®
[0)
@ Base Plate 1 SS400 =
2B6ADR 2
@ Slid Guide 2 $S400 ®
'_
5 ® Support Pin 1 | SS45C o
S ) Fixed Pin 1 | SS45C (a]
(®  Hexagon Socket Head Bolt = 4 = SCM435 M8 X 35
® Spring Washer 4 SCM435 For M8

@\ . 5352 , OF OIL FREE™

- -
Q| 77

B O @ & COL_ |
Weldifg —| <
Q| e IR
2-M12 i
25 | [N2M12 5 105 45 S
Model: 25S0O-PSH 40w) 15.5
[e]z{p]=20 Model W 35 10
2R °5S0-PSH40 55
Load N (kgf) No ‘ Description ‘ Qty ‘ Material and Remark
, ©O) Pusher Plate 1| 8S400
min
@ Connector Plate 1 SS400
Sprin 2 SWPA @20 X L20
2530-PSH 40 37.8 (3.9) 79.8 (8.1) ® pring e
() Hanger Bolt 2 SCM435 with Bushing
® Dowel Pin 2  S45p4X8

I Pusher Unit Connector Plate - wandwiuwaitasuiin

e T oFolFREE

Model: 25CNP-APSG Model: 25CNP-SODP
4-09 3-13  2-942 (L/2)-20
4-99 20165 .. 020 2xd-M8
. IS NC : S
I \ ®l =z \€> o\ ¢ A‘\ © \x -
e \\j\\/Q o o © SO > o9 =
R~ & R.T o ) sl
54 35 25| | 105 9 110 25| 1105 g
110 (L/2)-55 L
L
[e]={p]=2@ Model W- L L
Model W )
ISCNILES S>5CNP-APSG75-225 1mm increment
@ §8400 25CNP-APSG 75 220 - 600
25CNP-SODP 55 250 ~ 600

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 196

technologies



siajsuel] eiq

S:UUIAADUINYNLIWUW

I Shredder Unit - w3aiaasaiin

...\

Model:

25SDA

M16 ( For lifting)

© d
H—
) g

OF OIL FREE™

M12
o4 4-M12 4-913.1
37 __37
20 /—Z-M 2-918
5 &
slhe 5
D D
300:0.02|_| 15
375
15
View B

[ ] @
I INCT \ AN M I H
<t
AN i ] A J )
8 [h; f | il
@@\\ o o 7.
dissgssiyes| il ; 9,
| 14 / /
4] -~ g b4 /T H S -
A s b R - o 1 VA
= - =)
S R S a8
m@@@ T os Py T R - N\ &
| JRN ‘ T I ‘ Il ‘ Hl 2 ~ £
i <
a I X
\ \ 2 1 |
(1923 . ¢ NN
] H R X
O £ g *
16| | \ aro ¢ ? Type / Type
(18) 3| © *C230°
=l e 25SDA
I < 25SDAF ]! SDAR
3 I
ar. .
0® > View A
No. ‘ Description ‘ Qty ‘ Material and Remark No. ‘ Description ‘ Qty ‘ Material and Remark
1 Air Cylinder 1 MB63 SMC 14 Spring Washer 1 For M12
2 Cylinder Holder Plate 1 SS400 15 Spring Washer 2 For M24
3 Lifter Plate 1 SS400 16 Cam Follower 1 KR32LL By NTN
4 Guide Pin 2 S45C HRCB5 to 60 17 Straight Pin 1 S45C HRC5B5 to 60
5 Guide Holder 2 FC250 with Graphite 18 Shedder 1 SS400
6 Collar 1 STKM 19 Bracket 1 SS400
7 Spacer 1 SS400 20 Head Plate 1 SS400
8 Hexagon Nut 1 M20 21 Sun Rise TechBolt 6 M10X25
9 Hexagon Nut (3 Types) 2 M20 22 Sun Rise TechBolt 4 M10X40
10 Hexagon Nut 2 M24 23 Sun Rise TechBolt 6 M12X30
il Flat Washer 1 For M12 24 Cotter Pin 2 P3X32
2 Flat Washer 4 For M16 25 Hexagon Nut 1 M12X15 (3 Types)
13 Flat Washer 1 For M20 26 Elbow 2
[e]={p]=2 Model ST- A - Angle
2GUIGES >5SDAF125-60-10
ST A Angle
iealel 25mm increments 10mm increment 1° increment
25SDAF o
S5SDAR 100 ~ 300 50 ~ 200 ~ 25

197 QUN RISE

technologies

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com



Shredder Unit - w3ataasaiin

Die Transfers System

9 OF OIL FREE™
Model: 25SDB 60 4-M12
M16
(For fifting) J
M12 o (@]
4-913.1 ﬁ?\ o
b \}\ &
> 3
Py /) yan Y JEAV.N Pany Slolg ]
OO Y Y g9 s
< BN &
[ 2-218 g
(]
80
160
300 $0.02
330
. o
QOO® [
© @(ﬂ? ? A
e g
7 8 T . | &
b S
Vo VL]
v
s | m ’
(=]
0 =
. ) | 5
3 5 T 1] (-8
o § N | S
< / <2
i _ il ] '8
=V VA
3R ! A= .
g & 2 | =
I < ™~
@ é azo } ] Position: R
Side: R g < | |
- 1 1
L Position: F
e
30|
@{ 22 ors
0
No. ‘ Description ‘ Qty ‘ Material and Remark No. ‘ Description ‘ Qty ‘ Material and Remark
1 Air Cylinder 1 MB63 SMC 14 Spring Washer 1 For M12
2 Cylinder Holder Plate 1 SS400 15 Spring Washer 2 For M24
3 Lifter Plate 1 S5400 16 Cam Follower KR32LL By NTN
4 Guide Pin 2 S45C HRCH5 to 60 17 Straight Pin 1 S45C HRCH5 to 60
5 Guide Holder 2 FC250 with Graphite 18 Shedder 1 SS400
6 Collar 1 STKM 19 Bracket 1 SS400
7 Spacer 1 SS400 20 Head Plate 1 SS400
8 Hexagon Nut 1 M20 21 Sun Rise TechBolt 6 M10X25
9 Hexagon Nut (3 Types) 2 M20 22 Sun Rise TechBolt 4 M10X40
10 Hexagon Nut 2 M24 23 Sun Rise TechBolt 6 M12X30
1" Flat Washer 1 For M12 24 Cotter Pin 2 P3X32
12 Flat Washer 4 For M16 2b Hexagon Nut 1 M12X15 (3 Types)
13 Flat Washer 1 For M20 26 Elbow 2

[e]=]p]=>§ Model ST- A - Angle
RCVIGER >5SDBRF125-60-10

ST A Angle
25mm increment 10mm increment 1° increment
L F o o
25SDB R R 100 ~ 300 50 - 200 10° ~ 25

Die Transfers

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

QUN RISE 198

technologies



siajsuel] eiq

S:UUIAADUINYNILUWUW

I Hook for Transport - #iirauds

OF OIL FREE™

2-913
Model: 25DVJ =] e
B . o @ ss400
Welding ~
R50 o [e]={n]=l=8 Model L
<or o EXAMPLE |elsin\VAKIele)
= S Q N Q Model ‘ L
— IS} 40 100
12 . 132 25DVJ -
80
Model: 25DKLH 50 .

==

@ ss400

|
\

‘ Welding ORDER LR
‘ EXAVPLE [IESORENES
\

Cilie RS

R | Model No.
Uj 26 26DKLH 80
15 220
I Lifting Bars - aWasun$
OF OIL FREE™

Model: 25HLFB &W N Caulking at two points %0« ,%_‘ 10
~ )

T
I3 ~.
- - — — (A | <
| T (@)
*‘%1
~
Caulking at two points a7 (@)
-—
L1
L
(elz{p]=3f Model D S45C @ Iadadilasiuasaua uazagrlduniduaanuniudnng
EXAMPLE [RelsRIN=z=Yels) Come with Stopper Stopper must face downward and the bar must not protrude out.

25 34 185 135 29420 3000
35 44 240 190 49033 5000
25HLFB 40 50 260 210 88260 9000
50 60 290 240 137293 14000
65 75 335 285 166712 17000

1 99 %UN RISE Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Transfers System

I Cast-In Lifting Bolts - aWdAslua wuudaadnAuusfnw

OF OIL FREE™
Model: 25CSN L2
+0.3
<« RR R R
‘ R R R
1 Y]
| R | R :
P i ol o
| | TR 11 T8 5™ &
i S \\‘LL 77777 ~ © T 50
+1.0 +0.5 +0.5
T+ . T1+0 T2+0
Model D L:20
ORDER @sssc
EXAMPLE [Belsteis]\2le)
Thread Max Allowable Load (2 Lifting Bolts)
MxP
12 M12x1.756 38 28 18 30 40 55 10 30 15 14 2 3730 380
16 M16x2.0 46 36 22 35 45 55 10 30 15 18 2 6620 675
20 M20x25 | 48 38 28 45 B5 70 15 3 20 19 2 8830 900
25CSN
24 M24x3.0 | B5 45 36 55 65 85 20 45 20 225 2 13340 1360
30 M30x35 65 B2 42 65 756 95 25 B0 20 26 3 19810 2020
36 M36x4.0 85 70 48 75 90 110 30 55 25 35 3 58450 5960

v

I Bolt Die Hooks - u##ausfiny wuulua

Model: 25HBT

OF OIL FREE™
¥Model: 25HBTL
__H

° -
o°
m @ ‘ a) ! M4 ‘ a
\ & [ \ \
S
_s_ ] _— U
L2 \T\ L1
L2 | T | L1 L
L
(ol{p]=zW Model D S45C @ Alnandmiumanmiian A1 Safety Factor 10
EXAMPLE [Relsiul=ypele) Blackening The Max Allowable Load is for Steel, Safety Factor 10
v | L
1 L2 s | T R
25HBT | 25HBTL 25HBT | 25HBTL
10 M10x15 13 32 42 10 18 20 16 8 46 54 15| 5 | 8 |[9.2| 2452 250
12 M12x1.75 16 36 48 13 20 24 20 10 57 64 15 6 10 11.7 3530 360
16 M16x2.0 20 40 52 18 25 30|25 13 75 82 2 9 14 163 6669 680
25HBT 20 M20x25 25 48 62 20 28 37|32 16 90 98 2 12 17 19.8 10395 1060
26HBTL
24 M24x3.0 32 58 6 25 33 47 40 20 m 119 25 13 19 221 15004 1530
30 M30x35 36 68 88 30 40 56 48 22 131 141 3 16 22 256 23830 2430
36 M36x4.0 40 78 100 30 40 68 58 25 148 168 3 18 27 31 34814 3550

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 200

technologies

Die Transfers



StUUIA3DUIYNLIWUW
I Plate Type Die Hooks - n‘;%ma\iﬁuw' WULLNAN

OF OIL FREE™
Model: 25HPT

we
S

. M b=-10-40 ®D=Z?®g ors
) 2-0g o = 7?
=
o T a f ‘ ®0 — H
2 r< N U{ 1 Jan Nl an) o
g @ Y (_LL ° J NIV U 5] o
P02 |L3| L1 ‘Lz d = AN
A B Pio2 | L3 L1 L2 T98
L A
L
(Mop-s63 Mo-80
3-@g ° 4-@g
° T RN 4R10 O =TSN a4
A L[ 4-R10
J S5 1 ﬁ Ry g Lj Ry
C) gJ @ Si @
© ' NS 1 S
A M AN e ~ M"”Y )
Pso2 |L3 | L1 ‘Lz ‘30 \ Puz | Ls| L !Lz ‘gg
A | j5 0.5
L T-10 L T-10

(O]3{p]3f Model D @ ssa00 (@) Alwandmiuimaninien A1 Safety Factor 10 O Hluaviju 24CB
EXAMPLE |Rels{R[=3gels The Max Allowable Load is for Steel, Safety Factor 10 Use with bolt 24CB

Max Allowable Load

10 28 28 18 50 32 10 8 8 16 7 1569 160
12 32 32 20 56 38 10 8 10 18 9 3530 360
16 36 36 24 67 46 13 8 12 22 " 4511 460
20 40 40 26 88 60 18 10 15 30 14 5492 560
25 48 48 35 92 60 20 12 15 30 14 6570 670
25HPT
32 55 55 40 18 80 25 13 20 40 18 12160 1240
40 70 70 50 138 93 30 15 24 45 22 19123 1950
50 = 90 50 170 115 35 20 30 6B 26 27459 2800
63 - 15 50 175 15 40 20 30 55 26 39227 4000
80 = 140 50 185 120 40 25 30 60 26 50995 5200

201 %UN RISE Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Transfers System

v

I Large Head Plate Type Die Hooks - ##iausifine wuuiwan walua

OF OIL FREE™
Model: 25HPTL
e AR
22 | | I | } (
e B
- L1 L
sl
@ b=-10-40 @ p-50 209 4-C15
|
209 o ol @ T (o
al b = j P
F 1 - < N o \
‘ 3R 11 = E e
\# \1/ QD
J ‘f L L J)~eD — e e
N \/ ‘ -‘05
Pz |L3|_ L1 !Lz d Puoo | L3 | L1 [L2 T4
A A
L L

AT I
N //T\\ \/T\\
- ~ - N
[an] m ) om m o T~ |
% NN %L\ 2D
I ot 4
=t — =]
P02 | L3 L1 ‘L2 30 Lﬂ)‘
A | T8
138 '
L L

(O]sp]=3 Model D @ ssa00 (@) Alnandwiuimaninien A1 Safety Factor 10 ® luaviju 24CB
EXAMPLE |Rels{S[=Rglels The Max Allowable Load is for Steel, Safety Factor 10 Use with bolt 24CB

10 28 28 38 18 61 32 20 9 8 16 7 1569 160
12 32 32 44 20 67 38 20 9 10 18 9 3530 360
16 36 36 50 24 78 46 20 12 12 22 1 451 460
20 40 40 56 26 97 60 25 12 15 30 14 5492 560
25 48 48 68 35 98 60 25 13 15 30 14 6570 670
25HPTL
32 55 58] 77 40 125 80 30 15 20 40 18 12160 1240
40 70 70 100 50 143 93 35 15 24 45 22 19123 1950
50 = 90 120 50 170 @ 115 35 20 30 B55) 26 27459 2800
63 - 115 1856 50 175 115 40 20 30 55 26 39227 4000
80 = 140 | 180 50 185 | 120 40 25 30 60 26 50995 5200

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 s
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 202

technologies

Die Transfers



siajsuel] eiq

S:UUIAADUINYNLIWUW

I Roller Carriers - sn9lsataas

OF OIL FREE™
(olx1p]=f Model - A @ Ball Roller Unit A
EXAMPLE [elsi=Yei=31-i]0) ®@ SPC oeel No. Rollers
4 200
[} 300
Model: 25BCR16
Ball 15.875mm (5/8") 8 400
e 50 , <P *HL 2 10 500
3 —— 12 600
8 - 35 > 25BCR16 14 700
a 16 800
& -
o 108 18 900
21 20 1000
22 1100
Model: 25BCR25
Ball @25.4mm (17) 24 200
R — 42 !
| [ | RN | [® — Model L
‘ ‘ ‘ No. Rollers
‘ ! ‘ 8 800
! [ ! 3 ! ] & — 10 1000
‘ 100 ‘ 20
L 35 26BCR25 12 1200
14 1400
FugUNAUNU Order Code Ball d 16 1600
Replacement Parts = (&), 25SSBRS16  16875mm  6/8" 18 1800
25SSBRS25 25.4mm 1
I Roller Carriers (Fit Type) - 3nslsataasuuutls
Model: . d OF OIL FREE™
25BCRP16 . J i .
- . ‘ . ‘ FUAIUNARNY

34

Replacement Parts

25

T T T T
| | | |
| | | |
Lo L
L L

ﬁ Order Code

L Wy 25SSBRPIS

25 50 50 50 ORDER BUGCEEEECIEN  vodel ‘ d ‘ Ball No.
2R °5BCRP16-400
4

L
&
-] @y
T\ o\ %J@%J N Ball Bearing 25BCRP 16 400 8
50 100 \ 4-95.5 Through 600 e
9.5 Counterbore. Depth15
25__ 50 50 50 50 50 50 50
) )0 O © 0 -
119, ©-©)-© OO QO+
50 150 150 \ 6-05.5 Through
@9.5 Counterbore. Depth15
25 _ 50 50 50 50 50 50 50 50 50 50 50
TN A (N A A (AN A A AN A o
{10,0-©0-0,0-© 00,00 0,0:
50 _| 150 200 \ 150 \\ 8-95.5 Through

9.5 Counterbore. Depth15

203 %UN RISE Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103
Website: www.sunrisegr.com Email: sale@sunrisegr.com

technologies



Die Transfers System

I Roller Carriers (Fit Type) - sn9lsataasuuudls

Model:
25BCRP22

OF OIL FREE™

/i ] Y
\ ! \ ) ‘ Fudunauny

Replacement Parts

25
35

. -
L L @) Order Code

-
| S 4 25SSBRP22

25 50 50 50
ORDER JREESEECEEE  \odel Ball No.
2CVILEN >5BCRP22-400

)
2 //\\fo fx@fx 3 AIummum_
\\// \EJ k% & \EJ Ball Bearing 25BCRP 22 400 8

50 100 4-@5.5 Through 600 2
@9.5 Counterbore. Depth15

25 50 50 50 50 50 50 50

NI W N7
)W W@
50 150 150 \g—?g.(s:Through Deoth1s

?\\
)
@
¢
&
@)
)
%

g%@a@%@@w@g@@@

GQ 5 Counterbore. Depth15

I Ball Roller Carriers - s2suaalsataas

OF OIL FREE™

fola{p]=z] Model - A A
Model
DOV o5CHI26-10 No. Wheels

Model: 25CHI

3
®@ SPC 4 140
® Ball Bearing 5 175
6 210
7 245
Model: 25CHI26 9 8 280
Wheel 325.4mm 7@ 9 315
|
| /R /R el 10 350
gogw**@**@**@ \”\ :r)_ @ 1 3865
QL N @ SN ,/ N =
~ N V 12 420
~ S| 7 Sso ” ~~ -7 \:,
/' / ‘ ‘ 52 13 455
35 © 192 ) 14 490
L) -~ : 25CHI26 15 505
29
25CHI30 16 el
Model: 25CHI30 9 17 595
Wheel 330mm ;@ /hg 18 630
/V\ /'\ /V\H Ly, 19 —
[e'e) \ \ \ r b |
%' Q S w.,; %J* %J* ,\‘\\ ) & L 20 700
R A N J , l Lﬁﬂi 21 736
35 L] |5.2 22 770
©
(L - 19.2 23 805
29 24 840
25 875
Order Code ‘ Wheel Size 6 910

Fudrunauny © 25R600077 25.4mm 27 945
Replacement Parts :

258620022 30mm 28 980

Tel: +662-030-0092 Fax: +662-324-3190 / +662-324-3103 %
Website: www.sunrisegr.com Email: sale@sunrisegr.com UN RISE 204

technologies

Die Transfers



